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GENERAL STUDIES

Paper 1

. Time : 3 Hours ] ' [ Maximum Marks :

300
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INSTRUCTIONS ,

Each question is printed both in English and in Kannada.

Answers must be written in the -medium’ specified
(English or Kannada) in the Admission Ticket issued to
you, which must be stated clearl} on the cover of the
answer book in the space provided for this purpose. No
credit will be given for the answers written in a medium
other than that specified in the Admission Ticket.

Candidates should attempt questions from all Sections.

The number-of marks carried by each question is indicated
at the end of the question.

The length of the answers should not, as far as possible,
exceed the specification given at the end of each question.
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SECTION A
Discuss the part played by Tilak in the Indian National Mf)\emcnt
tAbout 250 words) 35
OR
Describe the circumstances responsible for the rise of the extremists
and the revolutionary movement in Indian politics in the early years of
the 20th century. Highlight the vrole of the revolutionaries —of
Karnataka.
Write short notes on any twe of the following : (About 150 words cachy
IIG.) 2:3()

tay Dr SV. Parameshwara Bhat, popularly known as» “Kannada

Kalidasa™
(b)  Benjamin Lewis Rice and the Karnataka education system
(cy  The main features of Dravida style of temple architecture
Write short notes on any three of the following & (About 75 words cach)

0 3=30

tal  The achievement of the. Mysore \Ruler in the 18th century who

planted “The Tree of Liberty” at his capital and enrvolled himself as

a member of the Jacobian Club of France.
tb)  The famous Hoysaleshwara temple and the Chalukyan style of

temple architecture.
(¢} The folk daneges of Karnataka.
tdi  The Somnath temple.
What do yow know about the following ? (About 20 words each) 2x15=30

tay (1) Aly Akbar Khan
(11 Bismillah Khan
(i11) Dagar brothers
{1v) Bhimsen Joshi

(v} Shyama Shastri
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SECTION B

‘The age of coalition governments hag arrived in India. This, however, is
a passing phase in our country as it matures in its democratic traditions.’

Comment ‘on the above statement and give your assessment of the
phenomenon and its repercussions on the growth and governance of the

country. (About 250 words) 35

OR
The nuclear tests by India and Pakistan have generated a totally new
environment in the sub-continent. What are the implications of this in
terms of India’s future relations with its neighbours in_particular, and
other world powers and internatijonal organisations in'general ?

(About 250 words)

Describe any three of the following : (About 75 words each) 10x 3=30
(a) Cauvery water dispute
th)  Mysore Palace take-over by Government
() John Glenn's recent adventure
(d)  The great disappointment caused by Leonid meteor shower
te)  Exercise Shiv Shakti and its repercussions
(ft  The Cubban Park controversy
Write notes on any six of the following : rAbout 50 words each) 5x 6=30

ta)  Puthina

th). Pete Sampras
fci Sheila Dixit
(d}  Veerappan

{¢) Bill Gates
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(f)
(g}
(h)
(1)
)
(k)
(1)

Br’iéﬂy explain any six of the following : (About 50 words each)

(a)
(b}
(c)
(d)
(e)
()

{g)
(h)
(i)

()

(8)

Girish Kasaravalli
Rajat Sharma
General V.P. Malik
Monica Lewinsky
Mahesh Bhupathi
Amartya Sen

Jyothirmoy Sikdar

Use of cellular phones in India
Internet and E-mail

Pentium Processor

INSAT series of satellites

The Matiz car

The inter-nation space station
Global warming

Web site

Modem

Terminator gene

Hx 6=30
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SECTION C

e e ——— s

Three tests were conducted for five students during the year. The class
teacher calculated the averages of the marks obtained and showed them
to the Principal as assessment of performance, The marks were as
under :

Student ~ Test]  TestIl Test 111 Average ‘
A 55 60 ' 65 60
B 65 60 i 55 760
C 50 40 10 50
D g0 - 40 80 o 50
E s 56 o B, 55

The teacher told the Principal that A #*as'GOOD, B was GOOD, C was
POOR, D was POOR and Eowas FAIR.

Give your assessment in, yout own words describing the performance of
each student and your recommendation to the Principal. 12

(a) Offer your views on the possible reasons for the difference in
patterns, of behaviour of the SENSEX and the price of the shares
as reflected in the chart below : 8

366 2963 2838

S\ e
SENSEX 2876 2917 2989 3058 3365 3570 3
'PRICE OF ar ons | : .
SHARE A 191 197 205 230 235 240 234 200 192
- _
PRICE OF g

| ‘ - 60 167
SHARE B 150 167 155 149 147 150 160 167
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(b) Marks obtained by students in Mathematics arc given below in
terms of marks and frequency : '

| _Marks Obtained | ___ Frequency
? 30 -35 , 5
35 — 40 10
40 - 45 15
45 - 50 i 30
50 - 55 | 5
Complete the “More than” table given below : 4
| Markcs Obtamed i No. of Stud.e:n-ts____ )

| More than 30 (including 30) |
. More than 35 (including 35)
_ More than 40 (including 40) .
More than 50 (including 50}
' More than 60 {including 60)

11. (a) Explain any three of the following : (About 20 words each) 2% 3=6

(i) Population Density
(11} G.N.P.

(i11) Census

(iv} Wholesale Price Index
(v} Forecast of monsoons

(b) Sachin Tendulkar s¢ored 116 in one of the matches played at
Sharjah. The diagram shown below was flashed on the T.V. screen :

10

50
5 T = Tendulkar

5 T B = Bowler
40

B

What initial conjectures can be made on the above figures ? What .
additional data would you like to have to form firmer opinions ? 7
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12. (a)

(b)

(i)

(1)

(11)

(131)

(1v)

{14)

Make a frequency table of the number of words with different
numbers of letters in the sentences given below :

THE POKHARAN NUCLEAR EXPLOSIONS HAD A
TREMENDOUS EFFECT ON THE NATIONAL ECONOMY. A
NUMBER OF SANCTIONS IMPOSED BY AMERICA DID

LEAD TO A NUMBER OF PROBLEMS. ;

The number of people who have climbed Mount Everest as a
cumulative fipure each year after 1953 (Prior to _this, the
cumulative total was zero as none had climbed the Everest.)
has shown a pattern as shown in the graph below, :

Number
of People

1950 60 70 80 90

A famous doctor hashateributed this to the overall fitness of
youth all over the world, after the year 1953. Offer your views
on the verdict of the doctor and your views on the graphical
trend noted above.

Find the total number of arrangements of the letters of the
word ALLAHABAD.

In.a single throw of a uniform dice, find the probability of
getting a sum of 5.

Two cards arc drawn from a pack of cards. What is the
probability that both are black ?

There are five women and five men. What is the total number

of ways in which marriages can take place between them ?

el
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THE POKHARAN NUCLEAR EXPLOSIONS 1IAD A
TREMENDOUS EFFECT ON THE NATIONAL ECONOMY. A
NUMBER OF SANCTIONS IMPOSED BY AMERICA DID
LEAD TO A NUMBER OF PROBLEMS.
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GENERAL STUDIES

Paper 2

Time : 3 Hours ] [ Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in English and in Kannada.

Answers must be written in the medium specified
(English or Kannada) in the Admuission Ticket issued to
you, which must be stated clearly ‘on the cover of the
answer book in the space prowided for this purpose. No
credit will be given for the answers written in a medium
other than that specified in the Admission Ticket.

Candidates should attempt questions from all Sections.

The number of marks carried by each question is indicated
at the end of the question.

The length of the answers should not, as far as possible,
exceed the specification given at the end of each question.
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SECTION A

Discuss the constitutional position of the civil services 1 India, indicating

how their impartiality and independence are ensured. Trace the growth of

civil services in Karnataka. (About 250 words)
OR

“The decision of the present government on the formation of “three
amaller states by bifurcating three bigger states 19 like opeming “a
Pandora’s Box with long-term and shori-term implications.

While giving your comments on this, write a note on the present
situation in Karnataka as regards border disputes and demands for

separate statehood.

“Karnataka is the land of silk, sandal, coffee-and gold.” — Justify the
statement with facts. (About 250 words)

OR

What measures has the Governmént of India taken to attract foreign

investment as part of a new strategy of industrial development in
. : . . . . . . A

India ? What is the present industrial scene 1n Karnataka

Nuclear power stations present a distinct means of overcoming the power
shortage in Indiz. Whatis the present status of nuclear power generation
in India and the pros and"eons for future growth ? (About 250 words)

OR
Bangalore has found a place among the top few cities in the world in

the field of electronics. Elaborate on the achicvements that have led to
thig- honour and the contributing factors that have helped.

40

40 -

40
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SECTION B

4. Answer any fwo of the following : {About 150 twords each) 20x2=40

(a) Does calling for or helding a bandh by political parties tantamount
to violation of the Fundamental Rights of individuals protected

under Articles 19 and 21 of the Constitution 7 Comment.

(b) Explain the role of Third World countries in the promotion ef the
New International Economic Order NIEO).

(¢} Write a note on the Rs. 1000 crore water resources plan evolved by

the state of Karnataka.

(d) Can the President act independently of the advice of the Council of
Ministers ? Elucidate.
5. Answer any two of the following : (About 150 words each) 20x2=40

(a) How far has the Green Révolution been responsible for

socin-economic changes ‘in rural Karnataka ?

" (b; Explain the factors.of industrial location with special reference to

Karnataka.

(¢) What were the objectives of the public sector enterprises in I[ndia ?
To what ‘extent have they been met during the last two decades ?

(d) Diseuss the role of infrastructure in the country’s £CONOMIC

development.

6. Answer any three of the following : (About 75 words each) 10x3=30

(a) What does the term ‘Monsoon' imply 7?7 Discuss the main
characteristics of the summer rainfall and its significance in the

agricultural economy of the country.
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(b}

(c)

{6)

Describe the distribution and production of Tron ore or Manganese

in the country.

How has the toplography of Karnataka state become helpful for the

development of hydrc power projects ?

The construction of Konkan Railway will be a boon for Karnataka.
Why and how ?

Answer any fwo of the following : (About 100 words each) 20x2=40

fa)

{c)

"(d}

India’'s progress in the development of satellites” has. been

noteworthy. Describe India’s status in the field.

The recent developments in the car industry are & clear indication
of high technology absorption by India from different parts of the

world. Give your comments on the phenomenaon.

Doordarshan has played a major role in the spread of information

to millions in the country. Elaborate on the role of this medium.

Comment on the potential role of computers in the development of

the country.

*
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SECTION C
8. Answer fen questions, selecting at least three from each of Groups I, II
and IIT (Answer to each guestion should be in about 25 words) 3x10=30
GROUP 1

(1} What is the longitude for Indian Standard Time ? What arc the
" approximate boundary longitudes for Karnataka ?

{2) What was the approximate per capita income of Karnataka in
1997-98 at current prices ? How does it compare with the national
average ?

(3) What are the ratios of Male/Female and Urban/Rural literacy in
Karnataka ? What are the major implications of sach ?

(4) Name the major wildlife sanctuaries of Karnataka. Of these, which
are the ones covered hy Project Tigen.?

(5)  What has heen the pattern of Fse in the inflation rate during
1998 ? How is the inflation rate deterthined ?

GROUP 11

(6) Name the years in which Article 356 has been imposed in
Karnataka. Which are the states involved in this controversy
recently ?

(7). How many MPs does Karnataka send to the Lok Sabha ? Of these,
what is(the. party-wise break-up at present ?

(8) Which are the riparian states of the Krishna river ?7 What is the
Almatii Dam controversy about ?

(9) "What is Article 370 2 Why did the BJP fail to fulfil its manifesto
commitment with regard to this Article ?

(10} Which are the states with two houses of legislature ? What is the
number of seats in the Legislative Council of Karnataka ?
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GROUP 111
Write notes on :
(11) ISRO Satellite Centre
(12) India’s Missile Programme
t13) Dakshin Gangotri and Maitri
(14) LASER

(15) Cryogénic Engines
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